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

  

  7

a)

k 3000

a (1 0,04) 0,96

R 3000 0,96 2254,34

Restdarlehen: 2254,34 €

 

 
 
 



  

  5

b)

k 12000

a (1 0,01) 0,99

R 12000 0,99 11411.88

Restdarlehen:11411.88 €

 

 
 
 
 
 



  

  10

c)

k 8000

a (1 0,03) 0,97

R 8000 0,97 5899,39

Restdarlehen: 5899,39 €
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

  

  x

a)

k 35000

a (1 0,015) 0,985

y 35000 0,985

 

 
 
 

 

 

x

7

b)

y 35000 0,985

Nach 7 Jahren: 35000 0,985 31486

 

 
 

 

 

 

x

10

8

c)

y 35000 0,985

Nach 10 Jahren: 35000 0,985 30091

Nach 11 Jahren: 35000 0,985 29639

Nach 11 Jahren liegt die Einwohnerzahl unter 30 000

 

 


